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=g mRER OuT |IN GROSS| HDCP | NET JE L mERESA OUT |IN GROSS| HDCP | NET =g mRER OuT |IN GROSS| HDCP | NET
B B BHA i 40 42 82 19.2 62.8 AEB 616 ABEE B— 45 46, 91 22.4 68.6 121 xRk E 39 42 81 11.2 69.8
2L BK A% 42 50 92 28.8 632 AB 626 SEH 1= 37 38 715 6.4 68.6 12208 F& B 4 53 97 27.2 69.8
L WA X 43 46| 89 25.6 634 AB 63 MR Rk 487 51 99 30.4 68.6 1236 =78 Wl 40 38 718 8.0 700
S 43 46| 94 30.4 63.6 AB 646 IUF IE¥F 407 43 83 14.4 68.6 1246 BEL 3RAh 40 38 718 8.0 700
FEEEEEAR 46 45 91 27.2 63.8 AEB 6562  H  SPEF 437 48 91 22.4 68.6 AB 1250 T% ®BE 41 41| 94 240 700 AB
BFEEEESS 40 43 83 19.2 63.8 AEB 665 TN B 467 53 99 30.4 68.6 12660 Mm% B 38 40 78 8.0 700
T k% B 35 39 714 9.6 644 AB 676 ®WE & 50 65 115 46.4 68.6 12762 /NRID FER. 3741 718 8.0 700
8fL g 2B 33 38 711 64 646 AB 686 Hm ZE 59 53 112 43.2 68.8 12860 A &=k 33 37 710 0.0 700
FETE] 38 40 78 12.8 652 AEB [ CEEEES 50 46 96 27.2 68.8 120 ME =8 3741 718 8.0 700
106 #HA ;i 39 47 86 20.8 652 AEB 705 %Rl AZE 46] 50 96 27.2 68.8 AB 13060 &Il &E— 36 42 718 8.0 700
T AN && A 42 83 17.6 654 T &Il el 45 51 96 27.2 688 131 FkE BR 44 50 94 240 700
1261 #H#HE xa 55 60 115 49.6 65 4 7260 LA 1B 37 43 80 11.2 68.8 13260 #@ ®X 40 46 86 16.0 70.0
3 B =8 42 49 91 25.6 654 7136 BHAK Mz 35 45 80 11.2 68.8 1336 MEk B 35 43 718 8.0 700
T4 BD EX 41 39 80 14.4 656 T4 AW & 39 49 88 19.2 68.8 1346 ®iIl Ea— 42 52 94 240 700
15 W& Z—. 40 40 80 14.4 65.6 AEB T =i == 41 55 96 27.2 68.8 AB 13562 85A JhA) 56 51 107 36.8 70.2
1661 A E— 43 45 88 22.4 656 766 ME = 36 33 69 0.0 69.0 1366 Ak =5 38 37 15 4.8 1702
17 i e 3740 77 11.2 6538 IAEEEES 39 38 77 8.0 69.0 1376 HE Tik 3738 715 4.8 1702
18 NH ZEBF 49 46 95 28.8 66 2 786 FIA BE 38 39 77 8.0 69.0 1385 =t Ik 4 42 83 12.8 1710.2
AR EEEES 39 43 87 20.8 662 796 IUF IE¥F 38 39 77 8.0 69.0 139 IUF 1E* 4 42 83 12.8 1710.2
200 Bl & 44 42 86 19.2 668 AB 80 ik ke 38 39 77 80 69.0 AB 406 NiE B 44 47 91 20.8 702
21 BE —B 4T 44 91 24.0 67.0 S FAEEEESS 34 35 69 0.0 69.0 46 LA g 44 47 91 20.8 702
260 A A 43 40 83 16.0 67.0 8201  EAA E— 41 44 85 16.0 69.0 4260 g 218 36 39 715 4.8 1702
R e 46 45 91 24.0 67.0 83 Il Tk 447 49 93 24.0 69.0 4360 Al %= 35 40 715 4.8 1702
2060 Bk EETF 42 41 83 16.0 67.0 84 BA R 38 47 85 16.0 69.0 144 & Bx 45 43 88 17.6 17104
T S 43 48] 91 240 670 AB 85T W Sh 50 40 90 20.8 69.2 AB 145 EE BEf 40 40 80 9.6 704
2660 AR E— 39 41 80 12.8 67.2 86 K1 A 427 40 82 12.8 69.2 1460 F58 A 38 42 80 9.6 704
217c KB & 41 47 88 20.8 67.2 81y HE =x5 45 45 90 20.8] 69.2 476 Rl B 42 46 88 17.6 7104
28%C e 39 49 88 20.8 67.2 R AECEES 437 47, 90 20.8] 69.2 486 BME =% 46 50 96 25.6 7104
206 MR = 38 39 717 9.6 674 S FETE ] 38 44 82 12.8 69.2 14961 #8)I1 BAE 49 55 104 33.6 704
0% KR E 38 39 77 9.6 614 AEB S ES 37 45 82 12.8 69.2 AEB 506 LA —= A1 41 88 17.6 104 AB
I HAK Mz 3740 717 9.6 674 Oy EKIR &# 407 50 90 20.8] 69.2 IR 45 51 96 25.6 17104
6 B T 43 50 93 25.6 674 0 FE aC 447 54 98 28.8] 69.2 5260 Emi = 33 39 712 1.6 7104
GRS 3748 85 17.6 674 936 L S&iF 45 42 87 17.6 69.4 536 MEk B 35 45 80 9.6 704
G ESN 40 42 82 14.4 67.6 04 IR I — 39 40 79 9.6 69.4 154060 #ER A 38 50 88 17.6 17104
356 =)l iE A 47 51 98 30.4 67.6 AEB 05z A AR 39 40 79 0.6 69.4 AEB 1556 =M 2AF 42 54 96 25.6 7104
6 BB IEH 39 43 82 14.4 67.6 96 #iI BX 427 45 87 17.6 69.4 1566z VL B 61 56 117 46.4 710.6
3 T H B 38 44 82 14.4 67.6 97 BHAR EETF 427 45 87 17.6 69.4 1576 AA 1EH| 41 36 711 6.4 710.6
B | KFE [BE 41 38 719 11.2 67.8 98 XIZ =8k 41 46| 87 17.6 69.4 158 #:1 B*X 43 42 85 14.4 710.6
L | KT = 42 45 87 19.2 67.8 99 IUA Z=—. 41 46| 87 17.6 69.4 1500 g E— 50 51 101 30.4 70.6
406 B0 TA) 38 41 79 11.2 67.8 AB 10062 niE B 20 47 8] 17.6 69.4 AB 16060 A #L 46 47 93 22.4 710.6
M L &f 41 46 87 19.2 67.8 1016 % 5% 32 39 71 1.6 69.4 16160 =l =& 42 43 85 14.4 710.6
I EES 40 47 87 19.2 67.8 1026 =t e 36 43 719 9.6 694 16260 AN = 42 43 85 14.4 710.6
B FE =N 47 56 103 35.2 67.8 1036 #@ BX 4207 47, 87 17.6 69.4 16360 AN EBEX 46 47 93 22.4 710.6
Mk hA & 42 34 716 8.0 680 10460 Al BE 33 46 719 9.6 69.4 16460 &=MA ) 45 48 93 22.4 710.6
T 43 41 84 16.0 68.0 AEB 10660 ™A H 45 39 84 14.4 69.6 165060 #hAk K= 39 46 85 14.4 710.6
460 XBHF mc 41 43 84 16.0 68.0 1066 &a BRI 437 41 84 14.4 69.6 1660 =l = 42 51 93 22.4 710.6
416 B R 39 45 84 16.0 68.0 0/ mE =& 34 34 68 -1.6 69.6 16762 ¥@ TIF. 46 55 101 30.4 70.6
8 Al £ YT 41 51 92 240 680 1086 RA M 37 39 716 6.4 69.6 1686L st#  #IEK 47 43 90 19.2 70.8
O WA —& 42 39 81 12.8 682 1006 I @B 41 43 84 14.4 69.6 160 A #O 42 40 82 11.2 1710.8
506 21 Bk 45 44 89 20.8 68.2 AEB 10 &) &— 4207 44 84 14.4 69.6 170 & =5 50 48 98 27.2 1710.8
51z |#alE mwk 45 52 97 28.8 682 11 IIF k= 36 40 716 6.4 69.6 7160 %@ 3h= 42 40 82 11.2 1710.8
eI 33 40 713 4.8 682 112 PH 2k 50 58 108 38.4 69.6 eSS a1 41 82 11.2 710.8
536 ERA FIE 40 38 718 9.6 684 130 I & 427 50 92 22.4 69.6 73 HE Z25 45 45 90 19.2 70.8
54 KB . 41 45 86 17.6 68 4 146 Wlm By 38 46 84 14.4 69.6 17460 H%A B 44 46 90 19.2 70.8
5560 =@ &5F 41 45 86 17.6 68.4 AEB 11561 $aA 1Ei% 467 43 89 19.2 69.8 17560 =M #% 40 42 82 11.2 70.8 AB
562 W% FIF 36 42 718 9.6 684 1166 Mm% =8 38 35 713 3.2 69.8 17662 A E.a 40 42 82 11.2 1710.8
5760 BB =0 48 43 91 22.4 68.6 17z #H FBF 497 43 97 27.2 69.8 T Ik =k 36 38 714 3.2 7108
58 |BR & 43 40 83 14.4 68.6 1186 AE = 447 45 89 19.2] 69.8 178 = =1/A 36 38 714 3.2 7108
AEE 38 3/ 15 6.4 686 119 /IMEBE = 4207 41 81 11.2 69.8 17960 R =% 40 42 82 11.2 1710.8
60 B B— 50 49 99 30.4 68.6 AEB 1206 &Kk B 39 42 81 11.2 69.8 180f flR 1E= 39 43 82 11.2 1710.8
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=g mRER OuT |IN GROSS| HDCP | NET JE L mERESA OUT |IN GROSS| HDCP | NET =g mRER OuT |IN GROSS| HDCP | NET
181 NE & 42 48 90 19.2 70.8 2011 B2E RB 51 48 99 27.2 71.8 KA E RS 45 45 90 17.6 712 4
18260 #M# &R, 41 49 90 19.2 70.8 2N BE RE 47 44 91 19.2 71.8 3027 WA EX 4 46 90 17.6 712.4
1836 &K & 50 45 95 24.0 71.0 24351 IR B 47 41 83 11.2 71.8 303 =B k= 4 46 90 17.6 712.4
1846 I Z.A& 400 39 719 8.0 71.0 204 B C& 47 41 83 11.2 71.8 3046 Il EBEw 55 59 114 41.6 712 4
1856 RiR BE 4 43 87 16.0 71.0 24505 EARE =17 467 45 91 19.2 71.8 305/ Flm —r& 43 47 90 17.6 712.4
186f: Hm Ik 43 44 87 16.0 71.0 S 467 45 91 19.2 71.8 3061 Hm A= 39 43 82 9.6 7124
87 28 = 43 44 87 16.0 71.0 2070 NE & 47 41 83 11.2 71.8 076  A¥E &Rk 39 43 82 9.6 7124
18862 LA (& 50 53 103 32.0 71.0 20871 ¥IA& BT 45 46| 91 19.2 71.8 308 AIF InE 39 43 82 9.6 7124
1896 MR Xk 38 41 719 8.0 71.0 2000 T B— 45 46| 91 19.2 71.8 3096 /NE oo 42 48 90 17.6 712.4
190 = HA 38 41 719 8.0 71.0 25001 FRm A0 45 46 91 19.2 71.8 AB 310fL MR RRiE 54 60 114 41.6 712 4
016 %Ak =2V 42 45 87 16.0 71.0 251 Ba — 45 46 91 19.2 71.8 Ny mx =8 34 40 714 1.6 124
1926 &A&k =— 4 45 87 16.0 71.0 2520u L hmE &R 407 43 83 11.2] 71.8 2L BA BT A1 49 90 17.6 7124
193 ME = 3 37 711 0.0 71.0 2530 hE BHE 407 43 83 11.2| 71.8 3L FE B2 37 45 82 9.6 7124
94 ME = 37 42 719 8.0 71.0 254 EFH HiE 407 43 83 11.2 71.8 G REIES 400 50 90 17.6 712.4
19502 #@3F M 44 51 95 240 71.0 25500 EA I 437 43 91 19.2 71.8 IEAEES 400 50 90 17.6 712.4
1966 #HAK =K 47T 56 103 32.0 71.0 256%% @A A2 35 40 715 3.2 71.8 31661 MR [EE 400 50 90 17.6 712.4
1976t =@ #kF 49 43 92 20.8 1.2 2571 Bk Ba 39 44 83 11.2 71.8 3T A B 46 41 8] 14.4 712.6
19862 4hL & 43 41 84 12.8 T11.2 2580 &% m=FEp 437 43 91 19.2 71.8 18 Em —w 49 46 95 22.4 712.6
19960 Il Bk 43 41 84 12.8 T11.2 250 R M- 39 44 83 11.2 71.8 319 FHH Bk 45 42 8] 14.4 712.6
2006 =B F— 39 37 16 4.8 712 AB 26001 fA MR 467 53 99 27.2 71.8 00 =k =froa 45 42 8] 14.4 712.6
2016 IR HHA 4 42 84 12.8 T11.2 2616 sk e 467 53 99 27.2 71.8 21 P E— 4 43 8] 14.4 712.6
2027 g & 4 42 84 12.8 T11.2 2600 A F =F 467 53 99 27.2 71.8 3N B HeF 4 43 8] 14.4 712.6
2036 =B F— 3739 16 4.8 711.2 26361 £ B 467 53 99 27.2 71.8 L MR =8 36 3 711 -1.6 712.6
204 2B =A 3739 16 4.8 711.2 26460 K@ F¥xT 41T 50, 91 19.2 71.8 N4 HEHF BET 39 40 719 6.4 712.6
IS EEES 44 48 92 20.8 71.2 26601 =& RF0 3746 83 11.2 71.8 356 & AU 47 48 95 22.4 12.6 AB
2060z e B 40 44 84 12.8 T11.2 2661 HE = 37 46 83 11.2 71.8 326 % FIM 39 40 719 6.4 712.6
207 #Ak =F 48 52 100 28.8 71.2 26762 (LA Bk 427 33 80 8.0 72.0 NI Tk HE 4 45 8] 14.4 712.6
208 EhE 39 45 84 12.8 T11.2 2685 mrx D UTF 497 47, 96 24.0 72.0 328 KABR —= 45 50 95 22.4 712.6
20961 SWF  IEH 35 41 16 4.8 711.2 2606 TE ml 52 52 104 32.0 72.0 320 EE BEX 45 50 95 22.4 712.6
210/ B%H BaA 43 49 92 20.8 71.2 27062 F  SPF 447 44 88 16.0 72.0 B0 KB FE 33 38 711 -1.6 712.6
201t IuQ =4 42 50 92 20.8 71.2 2716wl & 477 49 96 24.0 72.0 R EESS 36 43 19 6.4 712.6
212 kI Zim 38 46 84 12.8 711.2 220 KABR —F 477 49 96 24.0 72.0 e T 42 53 95 22.4 712.6
AR TESS 41 51 92 20.8 71.2 2732 AH Zedh 39 41 80 8.0 72.0 333 MR FER. 3 45 19 6.4 712.6
2140 #ik ZE 57 48 105 33.6 71.4 27461 A IEAI 437 45 88 16.0 72.0 334 AH — 49 43 92 19.2 712.8
2157y &k 59 47T 42 89 17.6 711.4 27561 A IEAI 35 37 12 0.0 120 A& 36 =mE BR 47T 45 92 19.2 712.8
2160 Nk 259 4 45 89 17.6 711.4 276 fEA BR 38 42 80 8.0 720 336 kIR E 39 37 16 3.2 712.8
2076 #8 =% 43 46 89 17.6 711.4 2716 5A  [&HI 427 46 88 16.0 72.0 B T/l 5% 43 84 11.2 712.8
2180 @ & 43 46 89 17.6 711.4 28 Mk =m/ 33 39 72 0.0 720 338 k% BA 3739 716 3.2 712.8
AT =R 42 47 89 17.6 711.4 219 AW &an 37 43 80 8.0 720 330 KL Eim A 43 84 11.2 712.8
2206 Bk = 46 51 97 25.6 1711.4 280 i Em 4207 43 88 16.0 72.0 34061 MR XX 37 39 716 3.2 712.8
221z (LA &k 38 43 81 9.6 714 28100 W Skl 39 49 88 16.0 72.0 3Ty EAH =R=E. 40 44 84 11.2 712.8
2227y BA —B 41 48 89 17.6 711.4 A CEESS 39 49 88 16.0 72.0 2L hE B 40 44 84 11.2 712.8
2232 #ell BRAE 40 49 89 17.6 711.4 2830 | FREN EER 427 54 96 24.0 72.0 M3 MR EH 36 40 716 3.2 712.8
22461 I & 39 50 89 17.6 71.4 2841 AN @iE 427 54 96 24.0 72.0 34461 AR A 40 44 84 11.2 712.8
22501 #HHE #m 42 55 97 25.6 71.4 AB 2857 Hm L 39 38 711 4.8 12.2 345 =Hb  Esh 39 45 84 11.2 712.8
2260 IUO g 49 45 94 22.4 711.6 28601 MZx Bt 38 39 711 4.8 712.2 3460 fglm AZETF 42 50 92 19.2 712.8
2 =& R 38 40 718 6.4 T11.6 2871 #A BAF 50 51 101 28.8 72.2 47 £k —1=. A1 51 92 19.2 712.8
22861 FBRER 38 40 718 6.4 711.6 288 27 B 38 39 711 4.8 712.2 48 WEHF BET 36 48 84 11.2 712.8
S I EES 46 48 94 22.4 711.6 280 K@ B 3740 717 4.8 712.2 M Tk B — 39 53 92 19.2 712.8
23072 KE EX 49 53 102 30.4 71.6 20002 Al HE= 3740 717 4.8 712.2 350 Wk di— 52 45 97 240 73.0 AB
231y Erz = 41 45 86 14.4 T11.6 201 Mm% =8/ 3740 717 4.8 712.2 Bifu LA —5 43 38 81 8.0 73.0
2321 =H X 45 49 94 22.4 711.6 20201 fexE #3 41 44 85 12.8 72.2 3520 Mk HiE 39 34 713 0.0 73.0
233 A == F 49 53 102 30.4 71.6 20361 FFR sk 3740 717 4.8 712.2 353 EH XK 49 48 97 24.0 73.0
23461 MR RRIE 57 61 118 46.4 1711.6 20461 N Enfg 447 49 93 20.8] 72.2 %A Bk EE. 41 40 81 8.0 73.0
23561 B =17 45 49 94 22.4 711.6 2051 fER B2 38 47 85 12.8 712.2 5 MR =8 3736 713 0.0 73.0
2366 EE 11T 40 46 86 14.4 71.6 206f 428 #03R 447 33 82 9.6 72.4 %6 =H BT 44 45 89 16.0 73.0
23161 BA BT 43 51 94 22.4 711.6 SEERETS 39 35 74 1.6 7124 By T B 40 41 81 8.0 73.0
2380 =i HeF 3749 86 14.4 711.6 208 #ERR A 47 43 90 17.6 72.4 358 Ak Be 39 42 81 8.0 73.0
230 WA EER 45 38 83 11.2 711.8 200f7 /NFR =k 461 44 90 17.6 72.4 35961 #4210 HIEA 39 42 81 8.0 73.0
24061 B2 @—Ep 59 56 115 43.2 71.8 300z &% ©A 37 31 14 1.6 124 A& 360z AIZ =ik 39 42 81 8.0 73.0
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=t mEE A OUT IN  GROSS HDCP NET JIE 5z mEEA OUT IN GROSS HDCP NET &1z mERES OUT ' IN  GROSS HDCP NET
36161 FREP ®AEA 43 46 89 16.0 73.0 16 P E— 41 471, 88 14.4 713.6 T 48 55 103 28.8 1714.2
62 MR =8 35 38 713 0.0 73.0 2260 ME H—EBF 407 43 88 14.4 73.6 4821 ¥ EER 40 47 87 12.8 714.2
363 kH Bx 50 55 105 32.0 73.0 3 ME 2R 36 44 80 6.4 713.6 483 KBE ®BX 35 44 19 4.8 7142
364 Ak A= 42 47 89 16.0 73.0 DAL WER A 39 49 88 14.4 713.6 4841 NRIL EER. 38 38 16 1.6 7144
3650z #ak  far 38 43 81 8.0 73.0 405f HE EB 38 50 88 14.4 13.6 AB 485 EFH A 45 47 92 17.6 7144
3661 4%m =R 45 52 97 240 73.0 e 44 41 85 11.2 73.8 486z (LEH BA A 43 84 9.6 7144
3671 gk A2 3340 713 0.0 73.0 RS 4207 371, 717 3.2 13.8 8T ¥aE AN 4 48 92 17.6 7144
368 BN B2 37 44 81 8.0 73.0 408f1 ¥AFF HF 51 50 101 27.2 73.8 488 AIZ =ik 39 45 84 9.6 7144
S 40 49 89 16.0 73.0 4296 AH RIER 39 38 77 3.2 713.8 4801 Bk o 42 50 92 17.6 7144
306 A & 36 45 81 8.0 73.0 43067 LM 1B 39 38 77 3.2 713.8 400/ IBE =c 40 52 92 17.6 7144
I NET 39 50 89 16.0 73.0 43161 B EH 427 43 85 11.2 73.8 N =8 =—. 51 46 97 22.4 714.6
37274 NHE B— 48 38 86 12.8 1713.2 43271 WH EF 467 47, 93 19.2] 73.8 4927 3kB & 51 46 97 22.4 714.6
3L =B AF 59 51 110 36.8 173.2 43360 WAH —n° 467 47, 93 19.2] 73.8 493 ®WEH E— 42 39 81 6.4 7146
74 XKL Eim 45 41 86 12.8 1713.2 434f1 2EM B&EF 427 43 85 11.2 73.8 494 BEF H= 46 43 89 14.4 714.6
375 FHk AmEF 49 45 94 20.8 73.2 AB 4356 BFE Eo 41 44 85 11.2 73.8 49561 HEE B 41 40 81 6.4 7146
3166 BA ERTF. 52 50 102 28.8 173.2 436f =B Hi= 4207 45 85 11.2] 73.8 496/ #A fEA 45 44 89 14.4 T14.6
3 HE = 43 43 86 12.8 1713.2 3T AW B2 4207 45 85 11.2] 73.8 7% HBHm EIk 45 44 89 14.4 T14.6
378fL #eiE MK 43 43 86 12.8 1713.2 138F  JIIFE WB 407 45 85 11.2 73.8 498f% FREY EER 4 45 89 14.4 714.6
379 il <YF. 4T 47 94 20.8 713.2 1396 BNl B’A. 437 50 93 19.2] 73.8 490 HiE F 48 49 97 22.4 7146
3802 A SFF 4T 47 94 20.8 713.2 4406 7 R 437 50 93 19.2] 73.8 5006 WA =—. 47 50 97 22.4 7146 AB
38T hmk ik 42 44 86 12.8 1713.2 /M1 He ik 39 46 85 11.2 73.8 501z A& 8hiT 47T 50 97 22.4 7146
RESEEE] 41 45 86 12.8 1713.2 4261 Bl F& 45 56| 101 27.2] 73.8 502( %k =th 47T 50 97 22.4 7146
383 1Rk Mk 45 49 94 20.8 713.2 436 BHA KL 41T 52 93 19.2] 73.8 5032 iR 1B 47T 50 97 22.4 7146
384 SNl B 45 49 94 20.8 713.2 4A4RT  FREY EER 487 42 90 16.0 74.0 50461 B BT 39 42 81 6.4 7146
K S 40 46 86 12.8 1713.2 456 BE HX 50 48 98 24.0 74.0 50661 A IRER 38 43 81 6.4 7146
386 M HiE 36 42 718 4.8 1713.2 466 BHAR = 461 44 90 16.0 74.0 506/ Il fA— 38 43 81 6.4 7146
387 ML B 40 46 86 12.8 1713.2 YT B B2 427 40 82 8.0 740 507 428 oA 49 56 105 30.4 714.6
388 FE EA 42 52 94 20.8 713.2 448f B RIA 45 45 90 16.0 74.0 508z (LA HEY 45 52 97 22.4 7146
FEEREES 42 52 94 20.8 7132 e IR 487 50 98 24.0 740 5000z | A3Z K& 45 52 97 22.4 7146
3901y ARA  BUE 40 54 94 20.8 713.2 4506 A BT 20 42 82 8.0 740 AB 510/ Al HRE 4 53 97 22.4 7146
0L B B2 44 39 83 9.6 7134 4516 @ =A 447 46| 90 16.0 74.0 511z | AIZ . 4 53 97 22.4 7146
30261 MR [EE 43 40 83 9.6 7134 45271 LA Bk 207 42 82 8.0 740 5120 BA BT, 47 58 105 30.4 714.6
303 MR =8 39 36 715 1.6 7134 4536 BN E— 4207 42 82 8.0 740 513 ¥ak B 46 48 94 19.2 4.8
3046 HAR Z=— 53 54 107 33.6 13.4 54— & 447 46| 90 16.0 74.0 51415 thig Jefe 50 52 102 27.2 714.8
39650 MZE Bt 37 38 715 1.6 7134 45567 (LB BA 437 47, 90 16.0 74.0 516 @i BF 42 44 86 11.2 714.8
3961 =F A 52 55 107 33.6 13.4 45661 &M RS 427 43 90 16.0 74.0 516 M3 H— 46 48 94 19.2 4.8
976 #@ FX T 4 47 91 17.6 713.4 5T AR WED. 461 52| 98 24.0 740 5170w K@ A= 46 48 94 19.2 714.8
39861 A IiEAl 40 43 83 9.6 7134 45861 Rk MRIE 427 43 90 16.0 74.0 518f1 kH Bx 42 44 86 11.2 714.8
3991 BRER A 4 47 91 17.6 713.4 4500 BfE WA 41 49 90 16.0 74.0 519ff #gim =7 42 44 86 11.2 714.8
4006 F EEB 39 44 83 9.6 134 AB 4600z Ear = 47 40 87 12.8 74.2 520f RE =H& 49 53 102 27.2 714.8
01 =8 =—. 39 44 83 9.6 7134 4616 MR EFw 50 45 95 20.8 74.2 521z LI e 4 45 86 11.2 714.8
4027z JIIA 2 46 53 99 25.6 7134 4626 W =% 45 42 87 12.8 74.2 5220 [IH % 45 49 94 19.2 714.8
403 =R & 42 49 91 17.6 713.4 4636 Hm LIk 44 43 87 12.8 14.2 523/ =% #k 45 49 94 19.2 714.8
T 46 53 99 25.6 17134 464f H EB 44T 43 87 12.8 74.2 5247z JIIFA 2 45 49 94 19.2 714.8
405fz (LA = 46 53 99 25.6 713.4 46501 k% A 4207 39 719 4.8 742 56fi &P LIFTF 43 54 102 27.2 148 AB
406 Rl mc 42 49 91 17.6 1713.4 4666z kIl BF 407 39 719 4.8 742 52601 Xk ML 40 46 86 11.2 714.8
07 mx =8 3 41 715 1.6 7134 46761 TEm BB 407 39 719 4.8 742 52761 A B=E 36 42 718 3.2 7148
408 #HAR TME 47T 41 88 14.4 1713.6 468 Il E&— 43 44 87 12.8 14.2 5281 HEF {HIE 48 54 102 27.2 714.8
400 FElE =EX 41 39 80 6.4 713.6 469fz A fH IE 39 40 719 4.8 74.2 520/ M0 % 51 59 110 35.2 74.8
A0 K28 =T 41 39 80 6.4 713.6 4706 Bk & 35 36 71 -3.2 714.2 530z Mk B 35 43 718 3.2 7148
Ay #H Ba 41 39 80 6.4 713.6 4716 kH &, 47 45 87 12.8 74.2 5311 #hAk =5 3749 86 11.2 714.8
A2 Ik &ie 40 40 80 6.4 713.6 NI 47 45 87 12.8 74.2 5321% #ER% fEA 46 45 91 16.0 750
4137 Bl EA 48 48 96 22.4 713.6 436 AR & 467 49 95 20.8] 74.2 5337 A =ik 42 41 83 8.0 750
A % B 44 44 88 14.4 713.6 474G B I\ BT 47 45 87 12.8 74.2 5341y 1Rk MRk 50 49 99 24.0 750
456 Bk B 44 44 88 14.4 713.6 4756 [Ef B 45 50 95 20.8 742 AB 535fu fBA B2 42 41 83 8.0 750
A6 M= =8 35 37 12 -1.6 13.6 47661 HiAR = 4 46| 87 12.8 74.2 536y EH AF 45 46 91 16.0 750
AT # =53 38 42 80 6.4 713.6 41T B/ EE 4 46| 87 12.8 74.2 5377y kK B 45 46 91 16.0 750
418 BEF B 41 47 88 14.4 713.6 478 LA @A 407 47, 87 12.8 74.2 538z #Il xA 41 42 83 8.0 750
A9 il <YF. 41 47 88 14.4 713.6 49 HE Es 36 43 19 4.8 74.2 530 Nk & 45 46 91 16.0 750
TS 41 47 88 14.4 713.6 4806 @ ®& 447 51 95 20.8 74.2 5000 @ BiR 40 43 83 8.0 7150
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HDCPLBR: (5B) #HH# (Z) #it## wE:
=g mRER OuT |IN GROSS| HDCP | NET JE L mERESA OUT |IN GROSS| HDCP | NET =g mRER OuT |IN GROSS| HDCP | NET
54111 INE R 36 39 75 0.0 750 6014z LUE BA 50 45 95 19.2 75.8 6611 #aAk T& 38 43 86 9.6 176 4
S5 WA =R 4 47 91 16.0 750 602 AlF =% 58 53 111 352 1758 6627 +@m IEfe 49 42 91 14.4 1716.6
5437 ML B 4 47 91 16.0 750 603 hm == 497 46| 95 19.2 75.8 663z (LA = 48 51 99 22.4 1716.6
bAART  KIE A 42 49 91 16.0 750 604 #miE Z=a) 45 42 87 11.2] 15.8 L EE 4 47 91 14.4 1716.6
545fi AL A& 45 54 99 24.0 750 6051 #ER% 1A 44 43 87 11.2] 15.8 6650y B T 48 51 99 22.4 1716.6
546z (LEH BA 43 56 99 24.0 750 6061 Bl — 47 43 95 19.2 75.8 6661 WA =5 47T 52 99 22.4 1716.6
547f A SFRF 47 41 88 12.8 17152 60761 KB IE& 43 44 87 11.2] 15.8 66761 IR =40 43 48 91 14.4 1716.6
548061 MR [EE 46 42 88 12.8 17152 608f1 HHEH FEF 50 53 103 27.2 175.8 66861 IR RIE 43 48 91 14.4 1716.6
e EEI 42 338 80 4.8 7152 609 FiE ke 50 53 103 27.2 175.8 66911 =H XA 3746 83 6.4 7166
5501 = Ta 45 43 88 12.8 152 AB 6106 HH =k 4 45 87 11.2] 15.8 6700 M am 44 55 99 22.4 716.6
5511 #8/h BU% 48 48 96 20.8 752 61161 HE BkE. 38 41 719 3.2 758 67161 ¥ B 44 55 99 22.4 716.6
552f1 IR EAT 40 40 80 4.8 7152 6120 #hx B 4 46, 87 11.2] 75.8 672/ EF =F 46 42 88 11.2 1716.8
5531 &Il &= 44 44 88 12.8 7152 613 AH =c 4 46, 87 11.2] 75.8 673z (LEH BA 41 39 80 3.2 7168
554G INE I 40 40 80 4.8 7152 61450 B H%5 407 47, 87 11.2] 15.8 6740 A T5 45 43 88 11.2 1716.8
5550y | Flm RS 43 45 88 12.8 17152 6156 FrH E—. 38 49 87 11.2 758 6/50u AlF B= 48 48 96 19.2 76.8 AB
55661 #aAk AETF 43 45 88 12.8 17152 ARFAEEESE 52 48 100 24.0 76.0 676z AE F. 60 60 120 43.2 17168
557 &8 F&F 46 50 96 20.8 752 61700 #thig Jele 52 48 100 24.0 76.0 67761 WhR TP 55 57 112 35.2 1716.8
5581y snA BAF 46 50 96 20.8 752 618 skMH & 437 41 84 8.0 1760 678 WA =% 39 41 80 3.2 7168
S 42 46 88 12.8 7152 61961 #H =L 477 45 92 16.0 176.0 679 FHH E—. 47 49 96 19.2 176.8
5601 {FZE & 42 46 88 12.8 17152 62001 xR BE= 427 42 84 8.0 1760 680 MZ Et 39 41 80 3.2 7168
561f.  —=.m =F 38 42 80 4.8 7152 6216 Mg MZE. 53 55 108 32.0 76.0 6811 /X EHE 46 50 96 19.2 176.8
56261 54 B&8| 46 50 96 20.8 752 62262 LA 12 41 43 84 8.0 1760 6827 &P LITF 46 50 96 19.2 176.8
5630 =& 2l 41 47 88 12.8 7152 6231 ElR '—. 497 51] 100 24.0 76.0 6831 LI [ 46 50 96 19.2 176.8
5641 K2 BX 45 51 96 20.8 752 624 WA = 57 59 116 40.0 76.0 68461 ER =& 46 50 96 19.2 176.8
T EEE 45 51 96 20.8 752 6250 @ F¥xT 48 52 100 24.0 760 AB 6850 Mx = 34 38 12 -4.8 17168
5661 2¥ Bk 41 47 88 12.8 7152 62661 EIR =R 52 56/ 108 32.0 76.0 6361 ZE IEX 46 50 96 19.2 176.8
567t Sv L 1B 41 47 88 12.8 7152 627 Bl — 447 43 92 16.0 176.0 6871 & 1A 41 47 88 11.2 1716.8
568z Rl &— 43 53 96 20.8 752 6280 SEH ak 447 43 92 16.0 176.0 68851 IR 1B 52 60 112 35.2 176.8
56061 #iAk AETF 52 49 101 25.6 715 4 6200 =it BT 447 43 92 16.0 176.0 680 MZx ‘Fia. 4 52 96 19.2 176.8
57061 RIR RA 4 41 85 9.6 7154 6306 Al B 447 43 92 16.0 76.0 6902 AR IEiE 43 53 96 19.2 176.8
57161 &R RBA 39 38 77 1.6 7154 631 AH A 4207 44 84 8.0 1760 6911 g @A 38 50 88 11.2 1716.8
572/ BRIl Flis 39 38 77 1.6 7154 6321 PRER =2 437 49 92 16.0 176.0 6922 sk BAF 48 45 93 16.0 77.0
573 Mk RIZE. 46 47 93 17.6 7154 6336L AR =ik 437 49 92 16.0 176.0 693 1BA B2 43 42 85 8.0 771.0
574y A EX 38 39 717 1.6 7154 6341 tim —1iz. 461 54 100 24.0 76.0 G ENET 50 51 101 24.0 77.0
G EEE] 42 43 85 9.6 154 AB 635w =% H& 38 46 84 8.0 760 6951 #hAk w53 41 44 85 8.0 77.0
576/% %5t MK—EB 45 48 93 17.6 7154 6361 1EA B2 38 46 84 8.0 1760 69611 =H =3 41 44 85 8.0 77.0
57761 MR EF 49 52 101 25.6 1715 4 6375 1@l BB 45 55 100 24.0 76.0 6971 #iE X 45 48 93 16.0 77.0
578 =R IEA. 49 52 101 25.6 75 4 6381 K = 447 56| 100 24.0 76.0 6981 #hAk =% 40 45 85 8.0 77.0
579f1 &Il ®— 49 52 101 25.6 1715 4 639%C BIE iF 51 54 105 28.8 176.2 6997 B/K MULTF 43 50 93 16.0 77.0
580 KIE 1K 40 45 85 9.6 7154 600 ZR RiB 477 50 97 20.8 76.2 7000 BfE AR 39 46 85 8.0 710 AB
58161 ¥ . 48 53 101 25.6 1715 4 64161 #@ TNF. 467 51 97 20.8 76.2 016 Ea B2 38 47 85 8.0 77.0
5821y hmkE B 48 53 101 25.6 1715 4 6420 H@m I 467 51 97 20.8 76.2 70260 WA & 46 55 101 24.0 77.0
583fL MIH F+ 4 49 93 17.6 7154 6436 ME &£ YT 427 471 89 12.8 76.2 IRFAETES 40 53 93 16.0 77.0
584 27 Bt 48 53 101 25.6 1715 4 6445 RN B 38 43 81 4.8 176.2 104 #F Sk 400 69 109 32.0 77.0
585z I =M 43 50 93 17.6 7154 6451 HE 2Aa 427 471 89 12.8 76.2 70562 #hE =k 49 41 90 12.8 77.2
5861 ME fr— 42 51 93 17.6 7154 646 2FF Bk 41 43 89 12.8] 76.2 7066 @ A 51 47 98 20.8 77.2
58761 TR B 46 55 101 25.6 1715 4 647 &H B 467 59| 105 28.8] 76.2 70762 xH 8. 47T 43 90 12.8 7T7.2
5881 4FH M 49 60 109 33.6 75 4 6480 BA fEx 51 43 94 17.6 76 4 7081 Bk = 66 64 130 52.8 77.2
580w =@ KT 33 52 85 9.6 7154 6400 KI5z =ik 54 48 102 25.6 764 7090 BfE HAE 4 40 82 4.8 7112
5000y 2% ik 52 46 98 22.4 7156 65061 #EJIl FT5h 53 49 102 25.6 76.4 A& 7106 A FA—Ep 45 45 90 12.8 77.2
5011 2R BE= 46 44 90 14.4 7156 651 =F Srk 43 43 86 9.6 176.4 T & 5% 41 82 4.8 7112
502fI 2B =A a1 41 82 6.4 156 6520 Bl 305 427 44 86 9.6 1764 126 KB =o 41 82 4.8 7112
50361 &A IEl& 49 49 98 22.4 7156 653 I B 38 40 78 1.6 764 EFEEEET: 45 45 90 12.8 77.2
5047 TaF BA 51 55 106 30.4 17156 654 @ F¥xT 41 45 86 9.6 764 T4 HF = 57 57 114 36.8 77.2
50507 [IH F+ 47T 51 98 22.4 7156 6550 sREH & 497 53] 102 25.6 76.4 715 Bfe BB 4 46 90 12.8 77.2
506/ B30 9= 35 39 714 -1.6 7156 6561 JRE = 41 45 86 9.6 764 AET 48 50 98 20.8 77.2
5070 HEHF E3 47T 51 98 22.4 7156 65761 A B 487 54 102 25.6 76.4 L =28 R 47 51 98 20.8 77.2
508 1RE 5% 42 48 90 14.4 7156 65801 =R R 437 51 94 17.6 76.4 7181 [FEEF EAl 43 47 90 12.8 7T7.2
500 =m IEE 53 61 114 38.4 7156 6597 &H BT 50 60 110 33.6 764 719 AR EF 51 55 106 28.8 77.2
600 #R0 BEA 4759 106 30.4 756 AB 6601 IRER fma 461 56| 102 25.6 76.4 72060 WA =% 42 48 90 12.8 77.2
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HDCPLBR: (5B) #HH# (Z) #it## wE:
=g mRER OuT |IN GROSS| HDCP | NET JE L mERESA OUT |IN GROSS| HDCP | NET =g mRER OuT |IN GROSS| HDCP | NET
72162 AHE 50 56 106 28.8 77.2 1816 FiE 427 46 88 9.6 /8.4 841 ™A L 44 56 100 20.8 79.2
72200 e E= 45 53 98 20.8 77.2 AEEEES 45 51 96 17.6 78.4 84261 5A B&H| 42 39 81 1.6 719.4
72360 BHER KB 400 50 90 12.8 77.2 783 WH B— 44 52 96 17.6 78.4 843 WA Wil 49 48 97 17.6 1719.4
7240 A B 50 45 95 17.6 717.4 78415 FEE = 44 52 96 17.6 78.4 N 49 48 97 17.6 1719.4
72500 WA ek 47 48 95 17.6 71.4 AB 7856L KH & 427 54 96 17.6 718.4 845f% #AR Ot 55 58 113 33.6 719.4
7266 NE BE 46 49 95 17.6 7174 7860 =it =— 52 41 93 14.4 718.6 8464 AL =— 46 51 97 17.6 1719.4
7216 ANl ®= 4 45 871 9.6 7174 7876 HW Al 487 45 93 14.4 78.6 84T nE & 4 53 97 17.6 719.4
I RE S 46 49 95 17.6 7174 7886 B 51 50 101 22.4 78.6 848 2@ A 42 55 97 17.6 1719.4
7290 #H =8 A 46 87 9.6 7174 7896 =B BE 461 471, 93 14.4 718.6 849 B ek 52 42 94 14.4 719.6
7300 [tRE =k 40 47, 871 9.6 7174 790 EFH BT 50 51 101 22.4 78.6 850 Mk MIZE. 61 57 118 38.4 79.6 AB
T30 Nk SoF 48 55 103 25.6 7174 91 JH % 461 471, 93 14.4 718.6 851 Al % 49 45 94 14.4 719.6
1320 | mE =fA 40 47, 871 9.6 7174 T2 o Rk 53 56 109 30.4 78.6 852y Rl B 48 46 94 14.4 719.6
7331 B0 #0F. 49 62 111 33.6 7174 793f EER T 45 43 93 14.4 78.6 8531 WE fE= 48 46 94 14.4 719.6
7346 BZE BXI A1 54 95 17.6 774 794 =@ oF 41 44 85 6.4 718.6 S FE S 41T 47 94 14.4 719.6
73561 kIR E 44 40 84 6.4 T7.6 150 ZE RE 47 54 101 22.4 78.6 8550y sRH =H& 51 51 102 22.4 1719.6
73600  #RA Mok 48 44 92 14.4 T7.6 EEEEE 39 46 85 6.4 78.6 8561z Eie 355 43 43 86 6.4 719.6
1376 Bk Be 47 45 92 14.4 T7.6 7977 (WH —E 427 51| 93 14.4 78.6 8571y =k BAE 47T 47 94 14.4 719.6
7380 &ZE WF 50 50 100 22.4 77.6 7986 EH RE 50 59 109 30.4 78.6 858fL /NB T-o#H 42 44 86 6.4 719.6
73961 [fhIR IE% 46 46 92 14.4 T7.6 7996 H Al 47 43 90 11.2 78.8 850f MH Ei% 46 48 94 14.4 719.6
R ES 43 84 6.4 7176 800% #hA sk 42 40 82 3.2 788 AB 860 Al B 41 45 86 6.4 719.6
AR BN E— 45 47 92 14.4 T7.6 801 Bl =t% 497 49 98 19.2] 78.8 I ET RS 45 49 94 14.4 719.6
ThL RHE ERTF. 4 48 92 14.4 T7.6 8020z HIF — 45 45 90 11.2 78.8 8621 #@m BX 43 51 94 14.4 719.6
T4 BAK E— 40 44 84 6.4 T17.6 803 =B =% 45 45 90 11.2 78.8 8631 = a8 42 52 94 14.4 719.6
THfL R BEER 48 52 100 22.4 7T7.6 8041 ER =& 407 42 82 3.2 718.8 864 wH Bt 56 51 107 27.2 1719.8
7450 | EHAR Z— 51 57 108 30.4 77.6 8051 #hA BhEE 4207 42 82 3.2 718.8 8650y =k BAE 49 50 99 19.2 79.8
T4 HiE B— 39 45 84 6.4 7176 806% FE KB 477 51 98 19.2] 78.8 866 T = 52 55 107 27.2 1719.8
IR 50 58 108 30.4 77.6 8071 WA EF 51 55 106 27.2 78.8 8671 Amm *1A 43 48 91 11.2 719.8
7486 A H 40 52 92 14.4 T7.6 808f: B2 305 437 47, 90 11.2 78.8 868 HT\ B|A 43 48 91 11.2 719.8
L 48 49 97 19.2 77.8 809 KA AAF 50 56 106 27.2 78.8 860f MH =& 42 49 91 11.2 719.8
7500 [RE = 39 42 81 3.2 718 AB 810 AH =BF 46] 52 98 19.2 78.8 870z H Ea 38 45 83 3.2 719.8
516 BA . 43 46 89 11.2 77.8 8111 #hiE JElE 497 57, 106 27.2 18.8 87161 A# #Z= 49 47 96 16.0 80.0
75202 1A JBE— 46 51 97 19.2 77.8 812 A/ 15 41 49 90 11.2 78.8 872fa A 1§ 43 45 88 8.0 80.0
7536 =ed Bi= 42 47 89 11.2 717.8 813 &Kk B 45 53 98 19.2 78.8 8731 %EM EX 50 54 104 24.0 80.0
75460 BRIl Fliks 46 51 97 19.2 77.8 814 Mk MZE. 47 59| 106 27.2] 78.8 874 W Bk 41 47 88 8.0 80.0
7550 B mik 45 52 97 19.2 77.8 815 LA =& 45 42 87 8.0 79.0 875 HF =H 41 47 88 8.0 800 AB
75602 a0 45 52 97 19.2 77.8 8160 #heE =% 44 43 87 8.0 79.0 8761 Tk ThF 50 62 112 32.0 80.0
75760 44 53 97 19.2 77.8 817 Hm I 487 47, 95 16.0 79.0 8771 hE & 54 47 101 20.8 80.2
7580 Ak Ba 43 43 86 8.0 718.0 818fL /PR T-AF 56 55 111 32.0 79.0 878%L g & 48 45 93 12.8 80.2
7596 210 BF 49 53 102 24.0 78.0 8196t &=F LITF 51 52 103 24.0 79.0 879 Mk AT 59 58 117 36.8 80.2
7600 BB E—. 45 49 94 16.0 78.0 820 FiE w2 447 51 95 16.0 79.0 880z JIID & 47 46 93 12.8 80.2
7616 #@ IEHE 45 49 94 16.0 78.0 QI =B = 437 52 95 16.0 79.0 881G Tk ThF 54 55 109 28.8 80.2
76262 i IEE 40 46 86 8.0 1718.0 8221 sH Ea 4207 55 95 16.0 79.0 882 Ak BT 61 64 125 44.8 802
763 |Hlm FR= 51 59 110 32.0 78.0 823 A Bk 51 49 100 20.8 79.2 883 KM &% 44 49 93 12.8 80.2
764 MZx & 43 51 94 16.0 78.0 824f1 FEE 3BiE 51 49 100 20.8 79.2 884 e =F 1 55 51 106 25.6 80 4
BFEEEES 43 51 94 16.0 78.0 82501 fF B%. 54 54 108 28.8 719.2 A& 8851y =i = — 55 51 106 25.6 80 4
766f% |faim AETF 42 52 94 16.0 78.0 8266 KiE v 497 51] 100 20.8] 79.2 8861z H E& 45 45 90 9.6 80 4
167160 @ &= 45 57 102 24.0 78.0 827h Il BT 57 59 116 36.8 79.2 8876 MZ Bt A 41 82 1.6 804
7686 =& BX 46 45 91 12.8 178.2 828f% [H & 45 47 92 12.8 79.2 888fL Mk =—. 46 52 98 17.6 80 4
7696 A & 41 42 83 4.8 17182 8297 g =— 56 60 116 36.8 79.2 880 =B =o 44 54 98 17.6 80 4
700 |85 ®B& 48 51 99 20.8 78.2 830z =78 BhF 44 43 92 12.8 79.2 800 WH &R 48 58 106 25.6 80 4
T R BT 47 52 99 20.8 782 831 = Ter 487 52] 100 20.8] 79.2 80T #2:@ .48 54 49 103 22.4 80.6
7720 A& ik 43 48 91 12.8 178.2 8321 #Il #E 52 56 108 28.8 79.2 8021z INmE #A 61 58 119 38.4 80.6
T3 kiR E 3746 83 4.8 17182 8330 sH Ea 44 43 92 12.8 79.2 8031 BRE & 53 50 103 22.4 80.6
TIARL [ KE =53 53 43 96 17.6 18 4 834 =) BE 437 49 92 12.8 79.2 804 =@ @mAT 51 52 103 22.4 80.6
756 AR BA 46| 42 88 9.6 184 AB 835 4FIL B 39 45 84 4.8 79.2 805z AIEH #h 50 53 103 22.4 80.6
77662 IA F% 40 40 80 1.6 17184 8360 EIl FE 477 53] 100 20.8] 79.2 896/ HII &= 40 47, 8] 6.4 80.6
7776 FW &R 47T 49 96 17.6 1718 4 8372 |LE BA 39 45 84 4.8 79.2 8071 Mk MIZE. 52 56 108 27.2 80.8
T8 =ik E= 51 53 104 25.6 18 4 8380 & Bk 427 50 92 12.8 79.2 808fL =Kk &t 48 52 100 19.2 80.8
7196 %@ BiR 42 46 88 9.6 784 830 B 1=17 427 50 92 12.8 79.2 800 £ BTt 51 54 105 24.0 81.0
7806 @ A= 46 50 96 17.6 17184 840 #AK BT 447 56| 100 20.8] 79.2 FEEI N 43 46| 89 8.0 81.0 AB
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20200 & 11 A 1 8B (H) 20200 £ 12 AR 5 H ()
BB E FR AT (9F-N) R Li-p: * * ok % * ok ok K *
THHIR: IR L TPOOR®BO®DO®® 1200 ® 6 ® ® ® @
HDCPLFR: (3) #h (%) #i &%
g sz BEE S OUT |IN  GROSS HDCP NET gz BEES OUT |IN |GROSS HDCP NET | MEf BEES OUT |IN  |GROSS HDGP  NET |
901fz %H BE 49 56 105 24.0 81.0 9611 PH BEIT 96 46) 102] 17.6 84.4
90261 BB &BhE 47 47 94 12.8 81.2 9621 ¥ HF 45 49 94 9.6 84.4
903fy [HE 1A 50 52 102] 20.8 81.2 9631y #HAK ¥ 92 98 110] 25.6 84.4
9044z 1)1l R 52 58 110] 28.8 81.2 964 A #L 47 9b  102] 17.6 84.4
90561 /NE =D H 40 46 86, 4.8 81.2 965fu lUA FE 49 50 99 14.4 84.6
906fu FHHE Fh 46 56 102] 20.8 81.2 966fz  #E =tk¥ 65 90 1200 35.2) 84.8
90/fx  JFK E 41 53 94 12.8 81.2 96/ #EtE EMF 62 66 128 43.2 84.8
908fy HH A 58 49 107 25.6 81.4 968 A BAZ. 95 94 109 24.0 85.0
9094z (LT BFFF 61 54 115 33.6 81.4 96961 A2 I 95 62 117 32.0 85.0
910 iR #is 64 59, 123 41.6 81.4 970f ##IR RRIE 64 o0 114/ 28.8 85.2
9z B FF. 52 55 107] 25.6 81.4 971k MR EX o4 o/ 111 25.6 85.4
91261 %HE [EE 44 47 911 9.6 81.4 921 ¥ME  Fih 48 95 103 17.6 85.4
913fu  B¥HD R4 47 52 99 17.6 81.4 9736 BAXR —f# o4 o4 108 22.4] 85.6
94 Rl XK= 39 44 83 1.6 81.4 94wk =ERKE 40 92 92 6.4 856
915fu #iK XEF 42 49 911 9.6 81.4 97561 i Flz o1 62 113] 27.2 85.8 AE
916/u MR& RA 49 58 107 25.6 81.4 9764 FEtE HRif ol 61 118 32.0 86.0
N7 =R HPE 65 63 128 46.4 81.6 9 #E HiF 45 49 94 8.0 86.0
918fr  #E =1 91 53 104| 22.4 81.6 9786 #HA IEJE 42 92 94 8.0 86.0
919 1A ERAY 49 44 93 11.2 81.8 9796 &K Hig 63 60 123 36.8 86.2
92061 UAR —if. 46 47 93 11.2 81.8 980% #HAR EHKF o6 99 115 28.8 86.2
21y R =8 38 47 85 3.2 81.8 9816 KB EER 90 62 112] 25.6 86.4
92261 #ElE =F 42 51 93 11.2 81.8 9821 #HH [EE 45 48 93 6.4 86.6
923fu FH HEH— 53 53 106/ 24.0 82.0 983t  FH BX 16 89 165 /8.4 86.6
924fu BAR HEX 53 53 106/ 24.0 82.0 98461 H ERF o/ ol 1141 27.2] 86.8
925fu BN BEEX 52 b4 106] 24.0 82.0 AE 9851 #2im B 99 63 1220 35.2 86.8
9260 KB BF 50 64 114 32.0 82.0 9864 #HA BA 48 65 113 25.6 87.4
92/ Fik B 46 60 106 24.0 82.0 98/fi =k EX o6 ol 107 19.2] 87.8
92861 Il RIE 56 55 111 28.8 82.2 988fr FEJII N3 67 69 136 48.0 88.0
92961 WUF JKES 56 55 111 28.8 82.2 989GI  fNEE REX o/ 60 117 28.8 88.2
9301 FHHE Fh 46 49 95 12.8 82.2 990% #RAE EF 61 o/ 118 28.8 89.2
Q16 R X%® 44 51 95 12.8 82.2 Ny #EF EF ol ol 102] 12.8 89.2
932fu RH =& 47 56 103 20.8 82.2 99261 & EEK 98 o4 112 22.4] 89.6
933fu TH HME 42 53 95 12.8 82.2 9931y BIEH #-F 68 67 135 44.8 90.2
93461 UH # 48 52, 100/ 17.6 82.4 9944 =& 3RA 98 69 127 36.8 90.2
935fu  FR)II_ERAE 51 57 108 25.6 82.4 9% Bk & 65 69 134 43.2 90.8
936%c M@k ARz 50 66 116 33.6 82.4 9964 IR BRIE 14 13 147 54.4] 92.6
Q376 K Bz 47 42 89 6.4 82.6 99761 FHE FREE 62 98 1200 27.2] 92.8
938f  HAH B 43 46 89 6.4 82.6 998fy #HAR  H|h 65 61 126 32.0 94.0
939k BRIl &R 47 55 102] 19.2 82.8 BB #iE #= V o1 72 123] 28.8 94.2 AE
940fy FH H— 45 57 102] 19.2 82.8 w2 HH HC /1 71 142 41.6 100.4 A&
Uiy Fik #Hz 51 48 99 16.0 83.0
921y #HAK  E 48 51 99 16.0 83.0
943y Rk PEE. 40 51 91 8.0 83.0
9461 HHY BX 95 49 104] 20.8 83.2
94561 AH FAAER 49 47 96 12.8 83.2
94661 MH XHE 47 49 96 12.8 83.2
9471y IR PFAE 62 95 117] 33.6 83.4
94861 #iRK AKX 47 54 101 17.6 83.4
949 FII Rk 53 53 106/ 22.4 83.6
9501y =R #=A 56 58 114] 30.4 83.6 AE
91 Ax BE 53 61 114 30.4 83.6
9521 #WIR B 50 45 95 11.2 83.8
953fu HMH IERR 93 50 103 19.2 83.8
9544y #5AK  H|A 94 65 119 35.2 83.8
95561  #HE FTHE 52 56 108 24.0 84.0
95661 FI E— 60 64 124| 40.0 84.0
95761 AH #IE o1 57 108 24.0 84.0
958fu EiE =8 47 53 100/ 16.0 84.0
95961 #H KX 60 53 113 28.8 84.2
9601y BA RS 92 53 105 20.8 84.2
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